Eksponenter pa 10

StudentName:
2% 10% =
10 =
9x 10 =
—1x10% =
8,05 % 10° =
8,32+ 10" =
5,05%10=

10?

3,79 x 10° =

3,75+ 10=

ExamDate: ExamScore:

2,74+ 10° =
-3x10° =
-3 x10* =

8,97+ 10° =
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Eksponenter pa 10

StudentName:

2 x 10* = 200

10 =100

9 x 10 =90

—1x10%> =-100

8,05 x 10° = 8050
8,32+ 10* = 0.000832
5,05 % 10=150.5

10> = 100

3,79 x 10° = 379000

3,75+10=10.375

ExamDate: ExamScore:

2,74+ 10° = 0.00274
-3 x10° = =3000
-3 x 10* = =30000

8,97+ 10° = 0.00897

10* = 10000
10° = 1000
5% 10 =50

1,82+10=10.182
—2 x 10° = —200000

10° = 100000
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